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1. You are provided the following graph depicting Babette's budget line one, BL1, and Babette's
budget line two, BL2. When Babette faces BL1 she maximizes her utility by consuming the
consumption bundle designated as point A. When Babette faces BL2 she maximizes her
utility by consuming the consumption bundle designated as point B. Suppose you also know
that the price of good Y is $2 per unit.

Good Y

10 20 40 Good X

Given the above information and holding everything else constant, what is the equation for
Babette's demand curve for good X? Assume that the her demand curve for quantities between
10 and 20 units can be described by a linear demand curve.

20 - (1/10)Q
10— (1/10)Q
6 (1/10)Q
3 (1/10)Q
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Use the following information to answer the next TWO (2) questions.

Consider the market for bananas in the small open economy of Macroland. This market is
characterized by the following, where Q is quantity of bananas, and P is the price of a unit of
bananas in dollars:

Domestic Demand: P = 1,000 - 2Q
Domestic Supply: P = (1/2)Q
World Price = $100

2. What is the quantity of bananas that will be imported or exported into Macroland when the
market for bananas is completely open to trade in Macroland?

450 bananas will be imported.
200 bananas will be exported.
250 bananas will be imported.
200 bananas will be imported.

oo o

3. Suppose now that Macroland’s dictator decides to impose an import quota of 50 bananas.
What is the deadweight loss associated with this policy?

$8,000
$6,400
$3,200
$12,800

oo o



Use the following information to answer the next THREE (3) questions.

Consider a perfectly competitive market and a representative firm in that market. Assume that all
firms are identical in this market. The relevant market and firm information is below:

Market Demand Curve: P =100 -Q
Market Supply Curve: P=20+Q

Total Cost for the Representative Firm: TC = 100 + 12q + 49°
Marginal Cost for the Representative Firm: MC = 12 + 8q

4. Given this information and holding everything else constant, in the short run how many units
of output, g, will the representative firm produce?

a. g = 40 units
b. q = 60 units
C. g =6 units
d. g =5 units

5. Given this information and holding everything else constant, in the short run what is the
value of the representative firm's profits?

a. Profit = $360
b. Profit = $316
c. Profit = $44
d. Profit = $0

6. Given this information and holding everything else constant, what is the long run equilibrium
price in this market?

a. $60 per unit
b. $55 per unit
c. $45 per unit
d. $52 per unit
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7. Why do we assume that indifference curves never intersect with each other?

a. Indifference curves do not intersect in order to make sure that we have constant utility.

b. Indifference curves do not intersect in order to make sure that the individual's preferences are
consistent.

c. Indifference curves do not intersect because that would make using indifference curves to
analyze consumer utility maximization too complicated.

d. Indifference curves do not intersect because the further you are from the origin the lower is the
individual's utility.

8. Cafe Starbags is a new coffee shop on State Street. After extensive market research, the
owners of Café Starbags find that the income elasticity of frappuccinos is 0.5 and the cross-
price elasticity of bagels and espresso is -0.8. Given this information and holding everything
else constant, which of the following statements is true?

a. Frappucinos are an inferior good and bagels and espressos are substitutes.

b. Frappucinos are an inferior good and bagels and espressos are complements.
c. Frappucinos are a normal good and bagels and espressos are substitutes.

d. Frappucinos are a normal good and bagels and espressos are complements.

9. In the market for widgets the demand curve is given by the following equation where P is the
price in dollars and Q is the quantity of widgets:

Market Demand Curve: P = 1300 — (1/25)Q

Suppose the goal of the firm providing widgets to this market is to maximize their revenue. Then
given this information and holding everything else constant, this firm should produce:

a. (975)(25) widgets.
b. (650)(25) widgets.
c. 25 widgets.

d. (500)(25) widgets.



10. The table below shows Zach’s marginal utilities from ice cream and chocolate. Suppose the
price of ice cream is $2 per serving of ice cream, the price of chocolate is $3 per piece of
chocolate and his income is $12. Given this information and holding everything else
constant, what is Zach’s optimal consumption bundle?

Q ice cream MU ice cream Q chocolate MU Chocolate
1 24 1 21

2 18 2 18

3 12 3 15

4 8 4 12

5 4 5 9

4 servings of ice cream and 1 piece of chocolate

4 servings of ice cream and 4 pieces of chocolate
2 servings of ice cream and 3 pieces of chocolate
3 servings of ice cream and 2 pieces of chocolate

oo o

11. (Just two answers here!) Jon operates a factory and this year Jon decided to triple his
employment of labor, his employment of raw materials, and his employment of capital. This
decision to increase the amount of labor, raw materials and capital that he uses did not affect
the price of any of these inputs. Jon only uses labor, raw materials and capital to produce his
product. At the end of the year Jon realized that he had managed to produce four times as
much output as he had prior to this increase hiring of labor, raw materials, and capital. From
this information we can conclude that:

a. Jon's factory experienced decreasing costs per unit and increasing returns to scale.
b. Jon's factory experienced increasing costs per unit and increasing returns to scale.



Use the following information to answer the next THREE (3) questions.

The graphs below are of a perfectly competitive market and a representative firm in that market.

P Representative MC

P Market

12. Given the above graph and holding everything else constant, how many firms are in this
market in the short run?

a. 480 firms
b. 8 firms

c. 80 firms
d. 60 firms

13. Suppose in the long run there are 75 firms in this market. Given this information and the
above graphs, what is the total output produced in this market in the long run?

a. 525 units
b. 750 units
c. 600 units
d. 1125 units

14. In the short run this firm will always choose to produce provided that:

a. Its total revenue is greater than (7*P5).

b. Its variable cost is less than (7*P5).

c. Its fixed cost is less than [(P2 — P5)*7].

d. Its total revenue is greater than [(P2 — P5)*7].



WORKSPACE
DO NOT REMOVE THIS SHEET!
Exam Continues Below!



Use the following information to answer the next FOUR (4) guestions.

Martina's utility from consuming cookies (C) and milk (M) is described by the following
information:

Utility = 2CM
Marginal utility of cookies = MUc = 2M
Marginal utility of milk = MUm = 2C

Martina's income is initially equal to $100 and the price of cookies is $5 per unit and the price of
milk is $10 per unit.

15. Given the above information, Martina's budget line is:

a. 100 = 10C + 5M
b.20=C+2M
.20=2C+M
d. M =10 (1/2)C

16. Given the above information and holding everything else constant, what is the consumption
bundle (C, M) that maximizes Martina's utility?

a. (C, M) = (5, 10)
b. (C, M) = (20, 5)
c. (C, M) = (10, 20)
d. (C, M) = (10, 5)

17. Suppose that the price of cookies increases to $10 per unit. Given this information and
holding everything else constant, what is Martina's new utility if she maximizes her utility?

a. Utility = 100
b. Utility = 200
c. Utility = 25
d. Utility =50

18. The price of cookies is still $10 per unit. Which of the following expressions accurately
describes Martina's substitution effect?

a. Martina's substitution effect is equal to [(5)(2*?) - 10].
b. Martina's substitution effect is equal to [(5)(2Y?) - 5].
c. Martina's substitution effect is equal to [10 — 5].

d. Martina's substitution effect is equal to [5 — 10].

10
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19. (Just two choices here!) Consider a small, closed economy. If this economy opens its gadget

market to trade and the domestic price of gadgets is greater than the world price of gadgets
then:

a. Domestic consumers in this market will favor opening this market to trade.
b. Opening this market to trade will create a deadweight loss since trade creates winners and
losers.

20. Consider the market for Teddy bears. You know that the price elasticity of demand is given

as 2.5 in this market. If your company which manufacturers Teddy bears decides to put the
Teddy bears on sale for 25% off of the original price this week and you are currently selling
200 Teddy bears per week, how many Teddy bears will you sell during this sale week?

a. 125 Teddy bears
b. 250 Teddy bears
c. 300 Teddy bears
d. 325 Teddy bears

21. Consider a specific market in a small economy where the domestic equilibrium price for the

good is greater than the world price for that good. Suppose the small economy is debating
three policies with regard to this specific market:

(1) keeping this market completely closed from trade,

(2) completely opening this market to trade with no implemented quotas or tariffs, and
(3) opening this market to trade while simultaneously implementing either an import
quota or tariff on this good.

Which of the following statements is true? (Note: (1) > (2) > (3) means policy (1) is the most
preferred, policy (2) is the second-most preferred, and policy (3) is the least-preferred.)

o0 o

Consumers prefer (1) > (2) > (3). Producers prefer (3) > (2) > (1).
Consumers prefer (3) > (2) > (1). Producers prefer (1) > (2) > (3).
Consumers prefer (1) > (3) > (2). Producers prefer (2) > (3) > (1).
Consumers prefer (2) > (3) > (1). Producers prefer (1) > (3) > (2).

12



22. Which of the following statements is true about a normal indifference curves?

a. The total satisfaction of consuming the two goods increases as we move down along an
indifference curve.

b. The total satisfaction of consuming the two goods decreases as we move down along an
indifference curve.

c. The total satisfaction of consuming the two goods remains the same as we move down along
an indifference curve.

d. The total satisfaction of consuming the two goods sometimes increases and sometimes
decreases as we move down along an indifference curve.

23. The income elasticity of hotdogs is negative. The cross-price elasticity between hotdogs and
hamburgers is positive. The cross-price elasticity between hotdogs and potato chips is
negative. Given this information and holding everything else constant, which of the
following scenarios will definitely increase the demand for hotdogs?

An increase in the price of hotdogs

An increase in consumer incomes

An increase in the price of potato chips
An increase in the price of hamburgers

oo o

24. The demand curve for pencils is described by the following equation where P is the price per
pencil in cents and Q is the quantity of pencils:

Market Demand Curve: Q = 25 — (1/5)P

The current price of a pencil is 75 cents. If the price increases to 90 cents what is the price
elasticity of demand? Use the arc elasticity or midpoint method to calculate this elasticity.

a. 33/17
b. 3/2
c.17/33
d. 2/3

13



Use the following information to answer the next THREE (3) questions.

The graph below depicts a firm's cost curves.

MC
P
ATC

\ A / Ve
16 /
15 B
11 N
10
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25. Suppose this firm produces 6 units of output and sells these units for $15 per unit. How many
of the following statements are true given this information?

e At this price and output combination this firm breaks even.
e This firm's variable costs are equal to $66.

e This firm's average total costs are equal to $90.

e This firm's fixed costs are less than its variable costs.

a. One statement is true.

b. Two statements are true.
c. Three statements are true.
d. Four statements are true.

26. (Only two answers here!) If this firm produces four units of output then:

a. Its variable costs are equal to $10.
b. Its average total cost is equal to $16.

27. Consider the distance from point B to point A in the above graph. What is this distance equal
to?

a. This cannot be determined from the provided information.

b. This distance is so small that we might as well view this distance as equal to a value of $0 per
unit.

c. This distance must be equal to $2.40 per unit.

d. This distance must be equal to $2 per unit.

14
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Use the following information to answer the next TWO (2) questions.

The graph below represents the market for widgets in a small economy. For this problem, we
refer to areas by their vertices (For example, the triangle for consumer surplus when closed to
trade can be represented by the area P1-C-P3).

Price, P
P1 Domestic Supply
A B
P2
C
p3 |—L
pafl F G |
J
Ps \Domestic Demand
Q1 Q2 Q3 Q4 Quantity, Q

28. If this market is currently closed to trade and the world price of widgets is equal to P4, then
we know that if this market opens to trade, then:

a. This economy will import (Q4 — Q1) units of the good.

b. Producer surplus will be equal to area P5-F-P4.

c. The difference between the new area of consumer surplus with trade and the initial area of
consumer surplus without trade will be area P2-A-C-P3.

d. The area of deadweight loss due to opening this market to trade will be area C-F-H.

29. If this market is currently closed to trade and the world price of widgets is equal to P2, then
we know that if this market opens to trade, then:

a. Consumer surplus will be equal to the area P1-H-P4.

b. Producer surplus will be equal to the area P2-B-P5.

c. Total surplus will be equal to the area P1-C-P5.

d. The deadweight loss from this market being opened to trade is equal to area A-B-C.

EXAM CONTINUES ON NEXT PAGE! THERE ARE 33 QUESTIONS!
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30. (Only two choices here!) Which of the following statements is true?

a. Consider a small closed economy. In this economy there is a market for good X where the
equilibrium price and quantity are determined by the intersection of the supply and demand
curves and the equilibrium price is greater than the world price. In the market for good X
there is no deadweight loss.

b. Trade creates winners and losers.

31. In the market for gadgets suppose that the price elasticity of demand is equal to 0.5. If prices
increase by 15% in this market this implies that the percentage change in the quantity
demanded will be:

a. an increase of 7.5%.
b. a decrease of 7.5%.
c. an increase of 2%.
d. a decrease of 2%.

EXAM CONTINUES ON NEXT PAGE! THERE ARE 33 QUESTIONS!
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Use the following information to answer the next TWO (2) questions.

Daniel has $20 available to spend on cheese (C) and wine (W). The price of a unit of cheese is
$2 and the price of a unit of wine is $4.

Daniel’s Utility Function: U= 2*(C)*(W)
Marginal Utility of Wine = 2*(C)
Marginal Utility of Cheese = 2*(W)

32. Given this information and holding everything else constant, what it the maximum utility that
Daniel can have from wine and cheese?

a. Utility = 16 utils
b. Utility = 9 utils

c. Utility = 25 utils
d. Utility = 21 utils

33. Suppose Daniel’s income increases to $32. Given this information and holding everything
else constant, are wine and cheese normal or inferior goods for Daniel?

a. both goods are normal goods
b. both goods are inferior goods

c. wine is an inferior good and cheese is a normal good
d. wine is a normal good and cheese is an inferior good

END OF EXAM. THANK YOU!
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